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N.B. .— (i) Attempt All questions.

(i1) All questions carry equal marks.
(@i1) Use of calculator is allowed.
@) §d TR gren
(i) TE YA 9HE O TR
(i)  TTOTRIS ATRUATH QLA 3Te.

MCQ)
1. Multiple Choice Questions : 10
a'g’qa’rq? I Hied
() Which is not one of the following measures of Dispersion ?
(@) ~ Range (b) Quartile Deviation
(c) Mean (d) Standard Deviation
ETAteIdeh! hivd 9Tl fomeeieq = A ?
(31) fowr (9) =qdew fo=em
() HHRR A1Eq (%) g foreer

P.T.O.
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Identify true statement from the following data :
(@)  Correlation answer’s limitation is -0 to +1
b) Correlation answer’s limitation is —1 to +1
(c) Every time correlation answer is positive
(d) Every time correlation answer is negative.
Geftetden I faam sfesan .

(31) TEEIL=A TR ARl —0 d +1 3T

(¥) FeHIHr=A I FART —1 41 STE

(F) TEEIIA W gHE &9 3T

() UREIY™ IR gHE RUT 3THd.

In which year the first index number framed in the words ?

(a) 1500 (b) 1700
© 1750 (d) 1764
A FWEOH hHIO I QU TR hell Bl 2
(31) 1500 (=) 1700
(F) 1750 (%) 1764

Range means .........ccccccevininine .
(@)  Difference between large values and small values in distribution
b) Difference between two values

(¢) Comparison between two values

(d) Distributed value

(31) favwrsHra A6 gea ot oM JeAnda Wi
(9) TH AN e

(%) TH Hearid g
(g) faufSa qea
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(v)

(vi)

(vii)

(viii)
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Which are the components of time series in the following ?

(@)  Secular trends (b) Seasonal variation
(c) Cyclical variation (d) All of these
EeeTdeh! IO ShIcTHIC 92 3T ?

(31) oo &d (=) HrgHt fo=rm

(F) =kt fo=rm (%) It &b

If Q; = 50 and Q; = 40, then find the coefficient of Quartile

Deviation :

(@ b5 b) 0.11
(c) 10 (d) 0.51
SR Qg = 50 U Q, = 40, W =Yk fo=ier ok =@ :
(1) 5 (&) 0.11
(%) 10 (¥) 0.51
Solve :
10
r=—f———— _ 9
J10x10 T ¢
(@) 10 (b) 100
(c) 1 d) 0.10
redr
10
r=—f/——— _ 9
J10x10 ~ ¢
(31) 10 (&) 100
(&) 1 (¥) 0.10

Calculate Paasche’s index number from the following data :
Ip,q, = 240, Ip,q, = 340
(@)  70.58 (b) 80.84

(c) 90.01 (d) 100
P.T.O.
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(ix)

(x)
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Wellel ATfedi=a STER U= feene &+l :
Ip,q, = 240, Ip,q, = 340
(1) 70.28 (9) 80.84
(&%) 90.01 (¥) 100
If standard deviation = 100 and Mean = 300, then the coefficient of

standard deviation :

(@ 3 () 30

(c) 0.11 (d) 0.33

SR AT fo=es = 100 3o SR "1ed = 300 T YHI0 fo=er e U el
() 3 (&) 30

(=) 0.11 (¥) 0.33

Calculate the Laspeyre’s index number from the following data :
2p,q, = 200, Zp,q, = 100

(@ 100 (b) 200

(c) 80 (d) 90

Trefiel Aifgdi=a SMeR aredts=n fdens & :
Ip;q, = 200, Ep,q, = 100

(31) 100 (&) 200
(=) 80 () 90
(Theory)
Calculate the standard deviation and coefficient of standard deviation from
the following data : 10
X F
0-10 5
10-20 10
20-30 12
30-40 16
40-50 27
50-60 10
60-70 15
70-80 5
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Eeitel Aifgdrea SER gql fogem onfor <= e wrel .

X F
0-10 5
10-20 10
20-30 12
30-40 16
40-50 27
50-60 10
60-70 15
70-80 5

Or
(fenam)
What is correlation ? State the types of correlation. 10

TEEaY WS HE ? Te@aHT™ YhR 9.

Calculate the Karl Pearson’s coefficient of correlation from the following

data : 10
Trela Oifedi=an SMeR et f9sREd aran Wedey U Aifed &3
X Y
10 50
12 48
15 51
18 45
20 40
20 47
21 43
25 45
28 41
30 40
PT.O.
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Or
(fenam)
Define Index Number. Explain the importance of Index Number. 10
Attempt the following questions (any two) : 10

@)
(i1)
€279)

(v)

Components of time series
Importance of correlation

Calculate Fisher’s index number from the following data :

Goods 2013 2018
Price Quantity Price Quantity
A 50 4 40 10
B 10 3 8 5
C 5 2 3 4
Calculate the Quartile Deviation from the following data :
X F
10 5
15 7
20 10
22 15
28 12
30 10
35 3
40 5

EATAUh! Vel aT Y99 Fedl :

@)
(i)

HITHIT  ¥2eh

T Hecd
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(i) Oele Afedren emER fryRe=n v wer
Gy 2013 2018
frma Tt ferma
A 50 4 40
B 10 3 8
C 5 2 3
(iv) Eeid A= STUR =qef® fagad Afsd &T :
X F
10 5
15 7
20 10
22 15
28 12
30 10
35
40
B—403—2019 7
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